B OHETD/MhERICE TS EMBSHRAEHR (FR25F1A~12A )

BZEHRAHEATEER TRi25F1281180K)~1880K)

_ BT RITERRICLDAIEE
ezt #E1m #h ES5cm
KABINER 0.07 0.07
EHINER 0.06 0.06
ARBINER: 0.08 0.08
AZABDER 0.09 0.09
WHDSK 0.08 0.07

BZEHRAHEATEER TRi254F1181380K)~2080K)

CAIREAL: /oA —A)Lk /)

_ BT RITERRICLDAIEE
Llegil #hE1m #h E5cm
KABPINERE 0.08 0.09
THINERS 0.07 0.06
ARBINERE 0.06 0.06
ARABFPER 0.09 0.09
WH DR 0.13 0.11

BEEBFARAEHER FH25F10A9R0K)~16A0K)

GRIE B . w40 —~ Lk B)

o = BT D RITE 28 1= &5 AIE(E
LB AR #E1m #h E5cm
KR BN 0.05 0.06
EHINER 0.06 0.05
ABINER 0.05 0.05
AZABDER 0.09 0.09
WHch2HHs 0.11 0.11

BEFEBARAEHER FR25F9A1180K)~19A(K)

GRIE B . w402 —~ Lk B)

o - BTDRAIESRICLDAIE(E
BRI #E1m #h_E5cm
AAFINER 0.07 0.07
EHINER 0.05 0.05
ABINER 0.07 0.06
AABDER 0.10 0.10
W ch2ARs 0.05 0.08

BEFBARAEHER Fai25F8A8RA(K)~21H(K)

GRIE B w402 —~ Lk B)

- - BT RITERRICKDAIEE
Llea il #E1m #h E5cm
KABFINERE 0.05 0.07
THINER 0.04 0.02
ARBINER 0.05 0.04
AABDER 0.09 0.09
EHDSK 0.07 0.09

CRIEBAL: v (oA —R )Lk /)




EZEREANSAERE EHR2547A98(K)~18H(K)

_ BT RIERICLDAIEE
ezt s #E1m #h_ES5cm
KABINER 0.05 0.05
EHINER 0.02 0.04
ARBINER: 0.06 0.07
AR BDER 0.09 0.09
WEH 3K 0.07 0.06

EZERARSHERAERERE TER2586A128(K)~1980K)

CAIBEAL: /oA —A)Lk /)

_ BT RITERRICKDAIEE
Llegi il #hE1m #h E5cm
KABFINERE 0.06 0.06
THINERS 0.07 0.05
ARBINERE 0.08 0.07
ARABFPER 0.08 0.08
WH SR 0.06 0.07

BEFBARAEHER FR25F5A8R0CK)~1580K)

GRIEB AL . v49a>—~ )Lk B)

o - BT D RITE281= &5 AIE(E
B AR ¥E1m #h E5cm
KBRS 0.06 0.07
EHINER 0.04 0.06
ABINER 0.12 0.11
AZABDER 0.10 0.10
WHch2s 0.08 0.10

EZERHSHERERERE TER258481080K)~198(#%)

GRIE B . w402 —~R Lk B)

o - BTDRIERICLDAIE(E
LB HE1m #h_E5cm
KBRS 0.08 0.06
EHINER 0.08 0.06
ABINER 0.08 0.07
AABDER 0.10 0.10
W ch2ARs 0.12 0.08

BEMBSRAERSR FR2543A1380K)~21A(K)

GRIE B w40 —~ Lk B)

- - BT o) RIE 2RI & HRIEME
Llea b #E1m #h_E5cm
KABINERE 0.07 0.07
WHINER 0.06 0.06
ARBINER 0.07 0.07
ARAFDPER 0.10 0.10
WHPEPR 0.09 0.11

CRIEBAL: v (/A —R )Lk /)




BZEREASAERE EHR2542A6H80K)~2080K)

_ BT RIERICLDAIEE
ezt s #E1m #h_ES5cm
KABINER 0.07 0.07
EHINER 0.06 0.07
ARBINER: 0.09 0.11
AR BDER 0.10 0.10
WEH 3K 0.08 0.11

BEMBARAERER FH25F1A9R0K)~16A0K)

CAIBEAL: /oA —A)Lk /)

_ BT RITERRICLDAIEE
Llegi il #hE1m #h E5cm
KABFINERE 0.08 0.07
THINERS 0.06 0.05
ARBINERE 0.09 0.09
ARAFDPER 0.10 0.10
WP 0.09 0.09

CRIEBRAL w1/ —R)L/F)




